
C C
0.214285714

3/10 1/3 1/3 1/6 7/20 1/3 1/3

D
0.05

W E B E L I E V E
E E

0.333333333

1/6 1/12 4/35 1/20 1/12 4/35 1/15 1/12 1/12

I
0.35

L O N D O N Z O O
L L

0.166666667

7/20 3/10 1/3 1/5 1/3

M
0.25

I S W H E R E
N N

0.114285714

5/12 1/3 3/14 1/5 7/20 1/4 1/3

O
0.083333333

T H E C R I M E
R R

0.2

3/10 7/20 1/6 1/6 1/3

T
0.416666667

W I L L B E
W W

0.3

3/14 1/12 1/4 1/4 7/20 5/12 5/12 1/3 1/20

Z
0.066666667
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This code tells Sherlock where a crime is going to be committed. The problem is he 
can't work out how to solve it... Can you help? You need to work out the answer to 

all of the questions and then write the letter that matches that number on the 
grid, underneath the answer each time it appears. Hopefully, you will crack it and 

Sherlock can stop the criminals from carrying out their dastardly plans!


